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Electra

     (1) In the tragedy Electra by the greek playwright Sophocles, revenge is the main theme.  (2) In fact, every characters actions are motivated in some way by the desire to get revenge on one of the other characters.  

     (3) At the beginning of the play, the audience learns that long ago King Agamemnon sacraficed his daughter Iphigenia.  (4) So that the gods would help him win the Trojan War.  (5) Clytemnestra, his wife, never forgave Agamemnon, when he returned from the war, she murdered him.  (6) The action in this play takes place many years later.

     (7) Electra, another daughter of Agamemnon and Clytemnestra, longs for revenge against her mother and Aegisthus, the man who helps her mother murder her father.  (8) When she learns that her long-lost brother Orestes has returned, his help in avenging their father’s death is sought by Electra.  (9) Orestes agrees to help her, and the two murder Clytemnestra and Aegisthus.

     (10) Electra shows that revenge is futile.  (11) The play proves that in order to avenge one bad deed, another bad deed must be committed.  (12) Are Orestes and Electra any better than Clytemnestra and Aegisthus?  (13) All of them commit murder for revenge.  (14) The play implies that there had got to be a better way for people to solve their problems.  

1.  Which change should be made to correct sentence 1?

     A.  Change greek    to   Greek
     B.  Change Sophocles    to     Sophocles’
     C.  Change Sophocles,    to    Sophocles
     D.  Change revenge is the main theme    to     the main theme is revenge
2. Which change should be made to correct sentence 2?

A. Change In fact,   to   In fact

B.  Change every characters     to    every character’s 

C.  Change are motivated    to    will be motivated
D.  Change desire    to    need
3. Which change should be made to correct sentence 3?

A.  Change play,    to   play
B.  Change King Agamemnon    to     king Agamemnon
C.  Change sacraficed   to  sacrificed 

D.  Change daughter Iphigenia    to   daughter, Iphigenia
4.  Which change should be made to correct sentence 5?

     A.  Change Clytemnestra, his wife,    to     Clytemnestra his wife
     B.  Change never forgave    to     never has forgave
     C.  Change Agamemnon, when    to   Agamemnon; when
     D.  Change war, she    to    war, and she
5. Which change should be made to correct sentence 7?

A.  Change Electra, another daughter of Agamemnon and Clytemnestra,     to   Agamemnon and 

            Clytemnestras’ other daughter, Electra, 

      B.  Change Aegisthus, the man    to    Aegisthus; the man
      C.  Change helps    to   helped
      D.  Change her father   to   their father
6. Which change should be made to correct sentence 8?

A.  Change long-lost brother     to    long lost brother
B.  Change has returned    to    returns 

C.  Change his help in avenging their father’s death is sought by Electra     to   Electra seeks his   

      help in avenging their father’s death

D.  Change father’s    to    fathers
7. Which change should be made to correct sentence 14?

A.  Change implies   to   infers
B.  Change there   to   their
C.  Change there had got  to   there has got
D.  Change their problems   to    his problems
8. Which is the best way to combine sentences 3 and 4?

A. Iphigenia; so that

B. Iphigenia: so that

C. Iphigenia, so that

D. Iphigenia so that

9. Which of the following is a fragment?

A. (2) In fact, every characters actions are motivated in some way by the desire to get revenge on one of the other characters.

B. (4) So that the gods would help him win the Trojan War.

C. (10) Electra shows that revenge is futile

D. (12) Are Orestes and Electra any better than Clytemnestra and Aegisthus?

10. Which of the following is a run-on?

A. (2) In fact, every characters actions are motivated in some way by the desire to get revenge on one of the other characters.

B. (4) So that the gods would help him win the Trojan War.

C. (5) Clytemnestra, his wife, never forgave Agamemnon, when he returned from the war, she murdered him.

      D.  (9) Orestes agrees to help her, and the two murder Clytemnestra and Aegisthus.
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